................................

| P\"QL g j—

(3= 8> e &4%4 536, 6443} Jﬁ.,ﬁt

{ T
r=o wowi{“‘r“’z

T i W

?
?V"
[N
(A
T

= ¥ e/ sl 0

e S M at &b
for
o,n'i‘u.nse
d)'lSl.bh

paes—

bs

A K SWers -

[bo=1+) 5 By=d-) 5= 1 L 4]




This is a different set of filters than
what was on the exam. | changed
the problem at the last minute so
that you could make use of solutions
to old Exam 3's. See Exam 3 F19
for the solution to your Prob. 2.



Michael Zoltowski
Text Box
This is a different set of filters than what was on the exam.  I changed the problem at the last minute so that you could make use of solutions to old Exam 3's.  See Exam 3 F19 for the solution to your Prob. 2.
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